St oM ;T
POWERED BY |V, £l 5, o,
/| FAREY £+ 2 uo
Fuf 101 ou g8 of
I I i 0% e £ N e
® AR iwl c s B0
5oL Vi 2 £33 5z
DOOR COMPONENTS MADE IN THE USA ?(}\?( g% sF Ex® oe
N Y- 335 @0
NS s 2.o- &
112.25" MAX. OVERALL limﬁ{";ﬁ@ x 887 gg
FRAME WIDTH Y o xS oE
3 Z 8" Gu
& 9.2 _°
§ 592 Bp
n"‘: oo g g
Glazed Steel Door . = i
5 gg
. K B
O
"NON-IMPACT" e
INSWING / OUTSWING & LB
—_ oo
O § n=
..Z_. [7,] W -4
= 5 cx
7] Nid
é 9_ <C CZD Li’
T 3 R
Q F S B Gy
[N} T ] b= B
L W ol Yo
2 (70} ]
?: =z O X O . ; § X
S 9 S| & A
EVALUATED FOR USE IN THE STATE OF TEXAS < é 8 e é:’:‘
The Glazed Steel Door system described herein complies with the 2018 O : x g
International Residential Code {IRC), Sections R301 & R60? and the 2018 = g ”
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 = = O o
subject to the following conditions: ® o "
~ Ia)
1. Anchors shall be as listed and spaced as shown in the details. Anchor o ]
embedment to base material shall be beyond wall dressing or stucco. z|Q
2. When used in areas requiring wind-borme debris protection this product is SIN
required fo be protected with an impact resistant covering that complies & § 0
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. 210 %
3. Allowable design pressure requirements must be equal fo or less than the S s o
design pressure rating shown in the design pressure chart, sheetf 1 of this A g >
drawing. §R| |x
4. Conditions not covered by this drawing are subject to further engineering § E
analysis. ) £
SIS
<C
TABLE OF CONTENTS 2
N
SHEET # | DESCRIPTION Q| =
i Typical elevations, design pressures & general notes § o
2 Door pane! details 1T lo
3 Slidelte panel details (lip lite insert glozing) b
4 Horizontal cross sections fo) (o) INSWING +35.0 -35.0 ATE: 11/16/16
5 Vertical cross sections SCALe:  N.T.S.
6 Vertical cross sections OXO OUTSWING +45.0 -45.0 DWG. BY: JK
7 Frame anchoring CHK. BY: LFS
DRAWING NO.:
TX—4687
SHEET _]1 oOF 7

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, TX-4687




Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 2.4

STILE {LVL)

EXTERIOR

~—1.75" ——

W
/2

o.81"

INTERIOR

m HORIZONTAL CROSS SECTION

291"

STILE (LVL)

\2/

35.75" MAX.
PANEL WIDTH

D

&P

95.25" MAX. PANEL HEIGHT

/
Vi

SEE HARDWARE
/ TABLE

DOOR SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

TRILENNIUM
SERIES 3000 MULTIPOINT
LOCKING SYSTEM

LOCK BLOCK

(WOOD: 12" LONG)

DOOR PANEL

Masonite
Steel (Wood Edge)

Endura

Trilennium®3000 Series
Multipoint lock (3pt.)

0.81"

TOP RAIL

[(WOOD) ~_

25 GA. STEEL
SIDELITE SKIN

INTERIOR

FOAM CORE

BOTTOM RAIL
(WOOD COMP.)

171" —

/" 2"\ VERTICAL CROSS SECTION

\2/

u
SOy 589
SRripidh s ,,,
-~ ..0‘0‘4-'.. ‘.,. /0 ?z EO [+ 45
ﬂ%; :2. l\,&(" Ev- 1] L )
ST iTi, o Wle* B g2
& 101Q W29 Now B By
S Sl Yoz i " 1
Py 1Pl oA Rpe Z Gu
A i Wifo w ip U
Gu.: ivio OfRZ\ ¢ ] o s E?
354 t21° Siox)y o§ £ .o 3
":}\9.? Heg! &, 2F 228 58
XS R P V- 2 dse bb
II (§.._"§z :’“QQ‘N d\ a>n Q
1111 ¥¥§>j§-:¢“ Zgo &6
l\\\'\_\-\x‘\'\:\‘ a o Ng ro
© o Xz u_m
@ z a8 Ol
§ g§%5¢ .09
§ 592 gu
E moa og
oF
:
PS5
£ )
3
Q
[*]
o
)
=l
£
as
g .
=R b
a Bl ==
> 9 <N
g ol &5
B x©
<| Sy
TCE
3 e}
@] E -«
& <
o Q.
EXTERIOR o z
-
L
o
]
K]0
O
8|l
Elo
Sio) |(n
A pd
o9 1O
Rl 2
Elol @
s &
n
Sl
Lo
g
85
= <C
o >
o
S
Q <€
S 16
I lo
e
oATE: 11/16/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4687

sHEET 2 oF 7

© zois R.W. BUILDING CONSULTANTS INC.



DNy .
STILE (LVL) STILE (LVL) &X‘.\E Py P
P 3 ':. (e o
EXTERIOR Fowigh \; N
ity ixTd 3 Es o e
5w 10 |5 .92z
? £ i 1038 fouw 8B ey
G twie W& F e G
i L ?’O:. FR ) 3
f\- = f} - :z E s g—) 6 ‘_('
2 B 9. 191 Th %289 33
g b, 1%, 53¢ HEQ BE
! Qs ois 4 534
zlz ¥ xit ol 7 @g
1111\,,{‘_«.;\‘\.‘:\:’:'\‘ g 9) © noc o
. INTERIOR . & oo+ Ed
0.81 0.81 TOP RAIL v 9¥Z Wl
(wooo)\/_\ § 5:% o6
" g R3dE IE
(1" HORIZONTAL CROSS SECTION D — N
\3/ 25GA.STEEL | — 5 g E
#6X1-1/2" ) SIDELITE SKIN : £ @ 6
35.75" MAX. PANEL : ;
WIDTH 21" MAX. INTERIOR —— 1/2" OVERALL GLASS THK.
D 7| DLO.WIDHH [ % 0
—— V/B'TEMPERED GLASS 25
R L 43
: . AIR SPACE < e
/ T \ e
(10 /// 1/8" TEMPERED GLASS 3 |g &2
/ A4 [RN] -
\3/ / . \ EXTERIOR STEEL SPACER @\ 7
<l g3
1, ': Q
#6 X 1-1/2°PPH SMS 3A) LOWTACK SSAS&S?ALANT 2 5 oF
o &
T > = & &
o i < (G)-HaLiNG DETAL INTERIOR EXTERIOR
o o =z EATERRI ol >
X i i O Y1 jm
3] - &Sz
Z o o O tél
& X 2 ] N
: 3 32
& 2 £[O]
o~ o~ ol ]
w ~ — - =z
o~ -(D © e
els| @
" E =
/ SE & 5P| |2
. R o Ol
/ : el
/// , - l : ﬁm i ‘ FOAM CORE\ s
— ; o o
325 | | } 4 : = N |
(rve) L R |z
9 o
@ ODL LITE FRAME - X -1
Jomomral Lkl o 11716716
SIDELITE PANEL ODL LITE FRAME ( ) L SCAE  N.T.S.
Masonite . HP Polypropylene 1.71" —» DWG. BY: JK
Steel (Wood Edge) oo LIRS
{2\ VERTICAL CROSS SECTION DRAWIG 0.
SIDELITE SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS) NG TX—4687
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) —

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (TrilenniumN\C - Drawings\TX-4684.85.87.88.dwg, 3.4

© 2016 R.W. BUILDING CONSULTANTS INC.



CORNER PADS
(TYP.)

|t 1 5" —]

| X

¢ q R
N
| }
2.5"
FATBOY MULLION
PINE

NOTES:

1. Spacing for sidelite screws: 6.5", 35.5", 57.25" and 85" from head to sill {4 total}.
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced {5 total).

wOOD

COMPOSITE

/

e ].5" -]

(0000

o
CJ
OJ

=)

4.375"

2.5

MULLION

"Fusionframe"

4-3/8" FATBOY

#8 X 3/4" PFH SMS 4"HINGE EXTERIOR

/"3 "\ HORIZONTAL CROSS SECTION

BACK-TO-BACK JAMBS: -
" usionFrame” FusionFrame” {1 OR 2-PIECE)
/«i\ m MULLION \
5 5
WAL () D) INTERIOR #10X 2-1/2" PFH
] 0] WOOD SCREW
#8 X 2-1/2" FH COURSE O ()| ENDURA WEATHERSTRIP (SEENOTE 2)
THREAD DRYWALL SCREW 0J 0J (QEBD/PE 650)
(SEENOTE 1) DOOR PANEL  ENDURA WEATHERSTRIP SIDELITE PANEL
(QEBD/PE 650) /
e
> P x’
2 ‘X
/ #10 X 3" PFH
SIDELITE PANEL / 48X 1" PEH SMS #10X2-1/2" PFH woOD SCREW
#8 X 2-1/2" PFH WOOD SCREW DOORPANEL  pwyigpoiny WOODSCREW  (see NOTE 1)
STRIKE PLATE

/4 "\ HORIZONTAL CROSS SECTION

\U Outswing shown - Inswing also approved

4-3/8" FATBOY

w Outswing shown - Inswing also approved

it
n g
/’/////j/,///////‘///

PINE MULLION PINE MULLION \
\ INTERIOR \ ] #8 X 2-1/2" FH COURSE
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW
THREAD DRYWALL SCREW (QEBD/PE 650) (SEE NOTE 1)
(SEENOTE 1) ENDURA WEATHERSTRIP /
DOOR PANEL - SIDELITE PANEL
4 (QEBD/PE 650) \ ¢ %/ o

X

= &I o SN v
T Z2%
<
/ $
SIDELITE PANEL N
#8X 1" PFH SMS
#8 X 2-1/2" PFH WOOD SCREW DOOR PANEL

MULITPOINT

#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE

7“1\ HORIZONTAL CROSS SECTION

#10 X 2-1/2" PFH WOOD SCREW

/“ 2"\ HORIZONTAL CROSS SECTION

w Outswing

shown - Inswing also approved W Outswing shown - Inswing also

approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F-11852

ENDURA
Steel DOOR
HORIZONTAL
CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:
BY

UPDATE TO 2018 IBC/IRC CODE

10/23/191ADD "FusionFrame~ OPTION &

1

REVISIONS

e
<
3
o
Z
6

oATE: 11/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4687

SHEET 4 oF 7

RAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium\C - Drawings\TX-4684.85.87.88.dwg, 4.4

© 2016 R.W. BUILDING CONSBULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 5.4

uj
2X FRAMING 2X FRAMING %’gffg‘g? oy o3
— (G>=0.42) (G>=042) .y ] Shrini Yy g3 2.
i A B — T S~ R EL g 4
L T ) y ',ﬂ ;;’"\'.“'. ::I": G .- _:
1 S T M EXT. SHEATHING /{4 o Jwi 1019 e ogn,. 2l
EXT. SHEATHING s i TN EXT. SHEATHING 1 RN Guied i, i “o GBS Lw
! T~ DRYWALL, | ' i e o A s fla 2%
S DRYWALL L M / ) " | DRYWALL ‘::, ot 168 P Z 23 o9
. , S Yl e S Z Lt p>0
4 L . I "y e Q & w7 Z0oon b
1L |~ #10X2-1/2"PFH | #10 X 2-1/2" PFH Tl g Nt i 5 B8R go
/4" MAX y L] WOOD SCREW =y bt WOOD SCREW ) § o g 2 %E
: ‘ = 1 S £ §%:2 %6
SHIM SPACE 1/4" MAX. ith ‘ ™ ¢ 5962 fu
RNl SHIM SPACE\X" ' ™ #10X 3" PFH g med 55
¥ ¥ = WOOD SCREW s X
sgE SHE 1/4" MAX. P g%
SHIM SPACE nok0 ;‘&J 5
! = | st 0o g
DOOR PANEL \\ ? SIDELITE PANEL ~ \ ? DOOR PANEL
S~ HEAD: PINE AN HEAD: "FusionFrame" (1-PIECE) @
' #8 X 2-1/2' Fl COURSE HEAD:FIRE ENDURA WEATHERSTRIP =
ENDURA WEATHERSTRIP ~ THREAD DRYWALL SCREW (QEBD/PE 650) 7
(QEBD/PE 650) (SEENOTE 1) & %
\ . N
EXTERIOR W TERIOR INTERIOR 4 EXTERIOR EXTERIOR W INTERIOR 2 3¢
LALLEALA40Y NOTE: i
"1\ VERTICAL CROSS SECTION "2\ VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION !+ Spacing for sidelite screws: 7 2
\y Outswing shown - inswing also approved W Inswing shown - Outswing also approved W Outswing shown - inswing clso approved ¢'fromeachend (2fotal). .- ol &
3 O] W
s g~
1
& &
gl 5

174" MAX.
SHIM SPACE

JAMB: PINE

#10 X 2-1/2" PFH WOOD SCREW

1/4" MAX. #10 X 2-1/2" PFH
SHIMSPACE  WOOD SCREW

0.75" —t«—-‘ 0.75" ﬂ l—-—fk— 0.75"
COMPOSITE
\ SNAP-ON
CA{\
. .
3 ol
(I
5
/
0 LvL
]
of
— s ] S R .
JAMB / HEAD JAMB / HEAD JAMB
PINE "FusionFrame" "FusionFrame"
{(1-PIECE) {2-PIECE)

#8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW
(SEE NOTE 1)

N

\\

N

/

SIDELITE PANEL

DRYWALL JAMB: "FusionFrame"
/ (1 OR 2-PIECE)
e INTERIOR N

[ [

NN AR

EXT. SHEATHING

m HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

#8 X 2-1/2" FH COURSE

THREAD DRYWALL SCREW
(SEE NOTE 1 )\ :
2X FRAMING \
(G >=0.42) 3

™\

2X FRAMING
(G >=0.42)

SIDELITE PANEL

EXTERIOR

EXT. SHEATHING

7”5 "\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

UPDATE TO 2018 IBC/IRC CODE

10/23/19|ADD "FusionFrame” OPTION &

1

REVISIONS

ot
<
S
o
4
6

oate: 11/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4687

SsHEET 5 oF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 6.4

A\

ENDURA
DOOR SWEEP

DOOR ;;
PANEL AN

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

R AREE i
ENDURA ENDURA WEATHERSTRIP yg; e g?“"lzl gg
DOOR SWEEP Forrinii b, <3 o
(DBKZAC) szt el (B g f
Swi  i0ie VG 5T .8 0z
0000 gi Ngioid wzg Wou 48 o
Siadinis ZiEAglet 2,5 &
S A ttio oioa N ;B
P A [l =7 c b=
R HoHA Y B égd z
Oxpe, 10 sk Exp 2
¥ s i Z oo T 335 4
My xini & Z2om &
LA TR e 8R. g
o gzo w
%m o O
=
moa g
m

#10 X 2.5" PFH WOOD SCREW OR 1
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

/ 1"\ VERTICAL CROSS SECTION
\U Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
[SEE NOTE 1)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION

W Inswing configuration

"
bl 456" |
T)INSWING ADJUSTABLE THRESHOLD 2 INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN
! 456" |
2\ INSWING ARTICULATING THRESHOLD 2\ INSWING ARTICULATING THRESHOLD

ZACLA565 IAC4565FN

% .‘ 5
- 3 — |, ‘
b 456" | b 456" |
@ OUTSWING THRESHOLD 12 OUTSWING THRESHOLD
1OBL4565 7OB4565FN

W Inswing Articulating Threshold

w Outswing Bump Threshold
SIDELITE 7

PANEL \\— m @ @

o

#8 X 2.5" COURSE THREAD —— 12 }':E}‘?
DRYWALL SCREW S, W,
(SEE NOTE 1) 2 //4 Mg
EXTERIOR

NTERIOR
#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
w Outswing configuration

_.

b 456" | P 456" | 456" |
3 ) INSWING ADJUSTABLE THRESHOLD ) INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 LIAIAA4565FN ZAI4565RDS
ol 456" | [ 456" | } 456" |
o ) INSWING ARTICULATING THRESHOLD ") INSWING ARTICULATING THRESHOLD 70) INSWING ARTICULATING THRESHOLD
IACLAA4565 IACAA4565FN IACA4565RDS

| 456 |
13 QUISWING THRESHOLD

ZOB4565RDS

Spacing for sidelite screws:
¢" from each end (2 toial).

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

10/23/19|ADD "FusionFrame” OPTION &

1

REVISIONS

s
<
a
o
z
6

oate: 11/16/1

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4687

SHEET 6 oF 7

@ 2016 R.W. BUILDING CONBULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 7.4

» HEAD ANCHORS: W
s o #10X 2-1/2" WOOD SCREW (PINE JAMB) Ry, & o
2o< #10 X 3" WOOD SCREW (1-PIECE JAMB) SxTint by, ié 3 o EN
& a ~ CO.n' :M “, *
290 . > & o = & JAMBANCHORS; FASSREI §u o8 £°
s 9 mp) — ) (TYP) ~ #10X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) ZWi . i0ig ce 200 gl
R 6 #10 X 3" WOOD SCREW (1-PIECE JAMB) S PoiY Yy GBS =
t<—— At T o 3
! (TYP.) 504 Zi2 $ é 8a 2%
- — . € i 2
SEE HINGE ; T 1] T 1 1 | f Yo, i3 5 538 ok
— ] . (’ ’6‘ ¥ : .: Ky 172} > 'n.. E
B DETAIL 1 LS 2 R 2.
[ f g wint Yo 8" g2
= * DETALL 1 ~ l‘q & ON< o
0 "\1\\\\ x ['4
0 DETAL 1 Q 3 287 bu
S § 3%¢ S
1 g 368 g
: Poageg
X | ] = . T £ § m%’
o 5 > & —_ 3& - €
3 Fi N\ <E . - sex22pws B &R %3
z 0
\ S 8 5 e LI & - 3
I " b ® L[~ <
2 - ~— Ji #8 X 1" PFH wsé:. ool == #8 X 3/4" PFH WS
B — 4" X 4" HINGE
) | SEE HINGE ; \ ©
EB | \ =
DETAIL 2 . &
u I 1 SEESRKE™ ||| @ HINGE DETAIL 1 g |, 3
PLATE DETAIL ~N S 2=z
T (TYP.) ' \ 5 olEw
© > o 0l <
‘ — e _ r | of
EEB'/ DETAIL | *\u * /~ DETAIL | | P HBX2VZPFHWS | J
. = . o ] #) 3
- N £ (TYP N f - Lo HledF == #ex34'PRHWS [ &
A e B i S [ 4"X 4" HINGE o b
T & ey SILL ANCHORS: \ = =
) #10 X 2-1/2" PFH WOOD SCREW o
FLOOR SUBSTRATE MATERIAL o]
HINGE JAMB CONCRETE {MIN. 3000 PSl) FRAME ANCHORING 1/4" X 2-3/4" ELCO OR STRIKE JAMB HINGE DETAIL 2 3O
WOOD (G >=0.42) OXO ITW CONCRETE SCREW 2 §
JAMB NOTES: 5ol |,
THE PINE OR “FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. * ) . N ; %
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. NOTE: These anchors are required for D.P. > 40 PSF. 2=l 15
5Nl S
INTEGRAL MULLION NOTES: ol &
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame" BACK-TO-BACK 2 ,:
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION, b:-' g
CONCRETE ANCHOR NOTES: S
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ;
edge distance to mortar joints. NEr
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo A ~ e
maintain the min. edge distance to mortar joints, additional concrete anchors S |12
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" COURSE \, B hani 3
3. Concrete anchor table: THREAD #10X2-1/2FHWS —1 TnD _ =
 F R By Ty TMIN, CIEARANCE DRYWALL SCREW <3 g?gltg:EPPoLl:}IE e 11,/16,16
scate:  N.T.S.
,. L .
e DETAIL 1 e
TAPCON® 1/4" 1-3/4" 1-1/2" 4 Integral mullion attachment STRIKE PLATE DETAIL g:ﬁw:; —
ELCO i} . . . TX—4687
uLrRACON®| 1/ 1-3/4 1 4
SHEET 7/ oF _7

© 2016 R.W. BUILDING BONSULTANTS ING.




